Parts Catalog - Option Detail

ks e

Online

Option Group Graphic Film Card Date
WR§77 32- 21.02 wr207ge I 02-APR-12
Endines ISM CM570, ISM CM570/870, ISM CM875, ISM CM876, ISM CM876 E, ISM11 CM876 M103, ISM11 CM876 SN, M11
g CELECT, M11 CELECT PLUS, M11 MECHANICAL, QSM11 CM570, QSM11 CM876
o
|
I
SMALL | MEDIUM | LARGE
View My Cart

WR2732-07

Electronic Control Module Wiring Harness

Etr Cnt Mdl Wrg Harness

Engine Control System: Celect



https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('wr207ge','/rtgraphics/english/parts/wr/2/wr207ge_sm.png');
javascript:swap_img('wr207ge','/rtgraphics/english/parts/wr/2/wr207ge_md.png');
javascript:swap_img('wr207ge','/rtgraphics/english/parts/wr/2/wr207ge_lg.png');

ECM Version: CM Series

ECM Loc (mm): 581.1 Vert. /

153.4 Horz. ECM vert.

distance is measured from the

top of the ECM to the crank

C/L the Horiz. distance is

measured from the FFOB to the

front of the ECM

Int Man Temp Sensor Loc:

Front

Int Boost Sensor Mtg Loc:

Front

OEM Interface Conn

Orientation: Rear from ECM

Eng Harness Clipping Loc:

Block Hole #329

OEM Wiring Brace Included:

No

Harness Routing: Attached to

Air Intake Manifold

2864488 Electronic Control Module Wiring Harness 1
2864487 | Electronic Control Module Wiring Harness 1
3062329 | Wire Tie Clamp 4
3068505 | Connector Wiring Retainer 1
3613253 | Cavity Plug 14
3613537 || Protective Cover 1
3615729 | Identification Tag 1
3616615 || Electrical Connector 1

3616616 | Electrical Connector 3




9 3654215 | Protective Cover

10 3654941 | Electrical Connector

11 3681517 || Electrical Connector

12 3964307 || Tape

13 3964308 | Wire Tie Clamp Retainer

14 4059820 | Clip

15 4059823 | Clip

16 4059824 | Clip

17 4076493 | Pressure Sensor Ambient Air.
2864516 Electronic Control Module Wiring Harness

18 2864515 | Electronic Control Module Wiring Harness

19 4022860 | Protective Cover

20 4022861 | Protective Cover

21 4059818 | Clip

22 4059822 | Clip

15 4059823 | Clip

2 3062329 Wire Tie Clamp

23 3098706 Wiring Brace

24 3251659 Regular Hexagon Nut M6 X 1.00.

25 3335571 Wiring Brace

26 3681386 Studded Hexagon Cap Screw

27 3818060 Captive Washer Cap Screw M10 X 1.50 X 25.

28 3821783 Captive Washer Cap Screw M8 X 1.25 X 20.

29 3900627 Hexagon Flange Head Cap Screw M6 X 1.00 X 14.

30 3902662 Hexagon Flange Nut M10 x 1.50

31 3910266 Spring Washer

32 4022547 Regular Hexagon Nut




3163713

Electrical Connector Seal

For Harness Listed Below

3163714

Electrical Connector Seal

For Harness Listed Below

4004571

Electronic Control Module Wiring Harness

4022868

Electronic Control Module Wiring Harness

4004501

Electronic Control Module Wiring Harness

3163715

Electrical Connector Seal

For Harness Listed Below

3099354

Electronic Control Module Wiring Harness

4059810

Electronic Control Module Wiring Harness

4004573

Electronic Control Module Wiring Harness

4022870

Electronic Control Module Wiring Harness

4059814

Electronic Control Module Wiring Harness

4004503

Electronic Control Module Wiring Harness

4059812

Electronic Control Module Wiring Harness

2864488

Electronic Control Module Wiring Harness



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

